
ÜH � Ï ŒÆ2006̈ 2007Æc 1 1ÆÏ • ÁÁ ò
� Á ò � 5• 1 1•

‘ § “ è 6040600 ‘ § ¶ ¡ ‘ Å L § (Aò ) • Áž m 120© ¨

K Ò ˜ � n o Ê 8 Ô l Ê o ©

� ©

� ò <

•
?

Æ
Ò

6
¶

..
..

..
..

..
..

..
..

..
..

.C
..

..
..

..
..

..
..

..
..

..
.¾

..
..

..
..

..
..

..
..

..
..

.‚
..

..
..

..
..

..
..

..
..

..
.

˜ ! £ 10©¤ �ÅL§�½Â �µ X(t) = A cosωt§ Ù¥AÑlIO��©

ÙN (0, 1), ω�~ê" ¦X(t)�˜ �VÇ�Ý�g�'¼ê"

� ! £ 14©¤ �N (t)L«[0, t)SóÀ��Oêì�ê8§ {N (t), t ≥ 0}� ˜ r

Ýλ = 3�ÑtL§§ q�P¹z�óÀ�VÇ�P = 0 .6§§§ P¹ØÓóÀ�VÇ´

�pÕá§ -X(t)L«®�P¹�óÀê"

(1)Á¦P{N (t) = m,N (t + τ ) = m + n}§ Ù¥τ > 0, m, n´ü��ê¶

(2) y²µ {X(t), t ≥ 0}´ÑtL§"
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n! £ 10©¤ �{N (t), t ≥ 0}��àgÑtL§§ ÙrÝ�

λ(t) =
1
2

(1 + cosωt)

(1)Á¦N (t)�VÇ©Ù¶£ 2¤ Á¦N (t)�þ�¼ê¶

o! £ 10©¤ �{W (t), t ≥ 0}�ëêσ2��BL§§ -M (t) =
∫ t
0 W (s)ds

(1)Á¦ E[m(t)]¶£ 2¤ Á¦D[m(t)]¶
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Ê! £ 10©¤ �{X(n), n ≥ 1}´Õá�ÅS�§ Yn =
(

n∑
k=1

X(k)
)2

§ Áy²

{Yn, n ≥ 1}´˜ �ê¼L§¶

8! £ 12©¤ �{Xn, n ≥ 0}´˜ �àgê��Åó§ ÙG��m�I = {a, b, c}§

˜ Ú=£ VÇÝ
�µ P =


1
2

1
4

1
4

2
3

0 1
3

3
5

2
5

0

§ (1)Á¦P (Xn+2 = c|Xn = b);

£ 2¤ Á¦P (X1 = b, X2 = c, X3 = a, X4 = c, X5 = a, X6 = c, X7 = b|X0 = c).
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Ô! £ 12©¤ àgê��Åó�G��m�I = {1, 2, 3}§ ˜ Ú=£ VÇÝ
�µ

P =


p q 0

p 0 q

0 p q

§£ 1¤ ÁxÑVÇ=£ ã¶£ 2¤ Á¦Ù²­VÇ©Ù.

l! £ 14©¤ ��Å� L§�X(t) = a cos(ωt + θ)§ Ù¥θÑlþ!©ÙU (0, 2π),

a, ω�~ê" £ 1¤ Á¯d�ÅL§´Ä�°²­L§§ ��oº£ 2¤ Á¦X(t)�

�²þ"
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Ê! £ 8©¤ �X(t) = {A cosωt + B sinωt, t ∈ (−∞, +∞)}§ Ù¥ω�~ê§ A, B�

�pÕá��ÅCþ§ EA = EB = 0§ DA = DB = σ2 > 0,?ØX(t)�þ�H{

5"


